

$$a_1 = 10, a_4 = 61 \rightarrow a_4 - a_1 = a_1 + 3d - a_1 = 3d = 61 - 10 = 51 \Rightarrow d = 17 \Rightarrow$$

$$a_n = 17n + 17 \quad 17n + 17 = 201 \rightarrow n = 12$$

$$\frac{10}{101} \leq \frac{17n+17}{999} \leq \frac{999}{999} \rightarrow 14 \leq n \leq 142 \Rightarrow 142 - 14 + 1 = 129$$

$$a_{n+1} + a_{n+2} + a_{n+3} = -9n + 12 \rightarrow 3a_{n+2} = -9n + 12 \rightarrow a_{n+2} = -3n + 4$$

$$a_n = -3(n-2) + 4 = -3n + 10$$

$$a_1 = -3(1) + 10 = 7$$

$$a_{14} = -3(14) + 10 = -32$$

$$\Rightarrow a_1 + a_{14} = 7 + (-32) = -25$$

$$r^x - 1, r^{x+1}, r^{2x} - r \rightarrow r^{x+1} - r^x + 1 = r^{2x} - r - r^{x+1} \rightarrow$$

$$r^x(r-1+r^{x-1}) = r^x(r^x - r)$$

$$1+r^{x-1} = r^x - r \rightarrow r^{x-1}(-1+r^2) = r$$

$$r^{x-1} = 1 \rightarrow x-1 = 0 \Rightarrow x = 1$$

$$\begin{cases} a_{12} - a_{10} = 2 \\ a_{12} + a_{10} = 10 \end{cases} \rightarrow a_{10} + 2d - a_{10} = 2d = 2 \rightarrow d = \frac{2}{2} = 1$$

$$a_{12} = 10 \rightarrow a_{21} = a_{12} + 9d = 10 + \frac{9 \times 2}{2} = \frac{20}{2} = 10$$

$$r \times \frac{\Delta}{r} (a_1 + a_n) = \frac{\Delta}{r} (a_1 + a_n) \sim r a_1 + r a_n = a_1 + a_n \sim$$

$$r a_1 + r a_1 + 1r d = a_1 + n d + a_1 + n d$$

$$2r a_1 + 1r d = 2a_1 + n d$$

$$(r a_1 = d)$$

$$\frac{a_r}{a_1} = \frac{a_1 + d}{a_1} = \frac{r a_1}{a_1} = r$$

$$\frac{t_9^r - t_0^r}{t_v} = \frac{(t_9 + t_0)(t_9 - t_0)}{\frac{t_0 + t_9}{r}} = r \frac{(t_9 - t_0)}{\epsilon d} = n d = n(\Delta) = \underline{r}$$

$$\left[t_n = t_{n-r} + 1 \sim t_\epsilon = t_1 + 1 \sim t_\epsilon - t_1 = r d = 1 \sim d = \Delta \right]$$

$(t_\epsilon = t_1 + r d)$

$$d = \frac{t_n - t_0}{\frac{n-1}{+1}} \sim \frac{r + \sqrt{r} - r + 1r\sqrt{r}}{1r+1} = \frac{1r\sqrt{r}}{1r} = \underline{\sqrt{r}}$$

↑
تعداد واصل
حاصل

$$a_1 = r, a_{n+1} = 11, a_{\epsilon n-1} = r r$$

$$d = \frac{a_{n+1} - a_1}{n+1-1} = \frac{11-r}{n} = \frac{q}{n}, d = \frac{a_{\epsilon n-1} - a_{n+1}}{\epsilon n-1-n-1} = \frac{r r - 11}{r n - r} = \frac{r 1}{r n - r} \Rightarrow$$

$$\frac{q}{n} = \frac{r 1}{r n - r} \sim r v n - 11 = r 1 n \rightarrow \underline{n = r}$$

$$a_n + a_{n+\epsilon} = a_r + a_{1v} \sim n + n + \epsilon = 1r + v \sim r n + \epsilon = r_0 \sim n = 1$$

$$a_n = r a_{\frac{n}{r}} \rightarrow a_n = r a_\epsilon \rightarrow a_n - a_\epsilon = a_\epsilon + \epsilon d - a_\epsilon = \epsilon d = r a_\epsilon \sim r d = a_\epsilon$$

$$\boxed{a_r = 0}$$